
454 33141174 ShhtnpfrSn4ur UU hurur 260000 260000 I

5 Phrihruhurh htnrrohn 574t0r0

5 1 3321i140 Fhrhnmphh'I+S 100/100 hur{urp 4350 130500 30

5 2 33211120Qrrnrhnqur 4 xl2O tlt 480phuu qz hur{urp 36750 1653750 45

5 3 33210000 {BO / IV/ nJrurp q2 brurhnh 760 4560 6

5 4 332r1260 ACLO 5rl1 h \ruhurpnl2 hunn - 100 ptutn qZ hur]urB 5550 s5s00 10

5 5 33210000 Fr-ttnuhnh prn sz $1u\nl: 1300 5200 4

5 6 33211310flpnripnrqluuurlrtr l0 x i0 tI1 qZ hturlurp 39600 1188000 30

5 7 33211250C-Ilhulrurhrl uu1|lnur\nto 100 phurn sz hullup 5550 111000 20

5 8 33217240 fthrln$url1unp 100 ptuut q2 hunlrup 4950 99000 20

'.t 9 33211130tunlhuphplrtr 2x120 rI1- 240 phuur qZ htu{urp 4900 220500 45

5 1 0 33211230Uh$hrhu RPR lO0phuut q2 hrutlup 4000 80000 tn

5 1 1 33211200Shuur nhurqhhur hur\ru-tr 10ti1 -200 phuu SL 920 9200 10

5 1 2 33211190Shuur nhurqhhur hur\ur-U 10tI1-200 phuu qZ St 920 9200 10

5 1 3 33691158Shurn nturqhhur hru\ur-UA 10rly200 ptutn QL 1240 12400 10

5 1 4 33211220 Stuu nturqhlln hrullur-D 10111-200 phuu SZ $1u\nlt t700 17000 i0

5 1 5 33691158 Stuur nhurqhlnn hur\ur-D 10111-200 phutn qZ $p\ntr 1700 17000 10

5 1 6 33691 1210 Umu.ltp hur\ur uC> qz tfi 2000 8000 4

517 33211160gntururhbhtr 2x120 rll - 240phutn qZ hun{urp 3000 90000 30

5 1 8 33210000 Snurhuurilhtrurqur UUS 2x60 ri1-120 phuur SZ hur{urp 3600 108000 30

5 1 9 332i0000 SnurhuullhLurqur ULS 2x60 ilt -120 phuur q2 hullup 3600 108000 30
4900 147000 30520 3321 1 150 Uhqruhrnr-B 2x120 d1 240phuut qz hur{up

521 33210000 Snurnrlhrnpfr u11 uruurlr\ \1m{hrn
qz hurtlu:p 4300 43000 10

522 33210000 Sfunt\ s2 LT'-F 21000 21000 I

523 33210000 lfrlqu qZ tr-n 4200 8400 2

524 33210000 Lurplnlrnrlur q2 th-p 2

s25 24451140 Uhfrndhl qz 1600 48000 30

5,7.6 24451140 ZhpuurLimu q2 L 4200 84000 20

5 2 7 24451140 Umt$urbhrru qt t s600 112000 20

5 2 8 2445tr40 Uurhplrurhnu SZ L 20800 41600 2

529 24451140 ftnpurr.ifrh tr sz !q 2100 42000 20

5 3 0 2445tr40 drurlht unthrt SZ urnL+ 3300 6600 2

5 3 1 24451140 'tlhphhlqpnl33o/o o.) t 500 1s000 30

5 3 2 33691160 fululiir4fnu uprulunrlunnlru lgG,IFAurnurtrg uurpp'35h. q2 rnnL+ 24000 96000 a

5 3 3 33691 160
2hfir\npur\urhp ufhlnph IgG, urmuhg uupp.,

/ru r urtrrhurhh rlhBnry'
qZ trrnL+ 18000 90000 5

5 3 4 33691 160
Snpunqlurqrfnq IgG, unurhg uuFP', /qluh2huhlt

r-ttnnn/
SZ tnm+ 35000 35000 1

:5 35 3321 1320 2hruurtnhur tr qZ urnr-rh 4375 105000 24

5 3 6 33211320 Ztrlulnhur I sz urnL+ 4375 105000 24

537 33210000 3furnlnqlrur\urh Qlrpunrl urtpnqnl 100rI1 q2 hurur 5760 57600 10

5 3 8 33691 159 iysmex XP-300 Utlqut\ 10 1
q2 hu:tn 18000 360000 20

5 3 9 33691 1 59 iysmexXP-300 UurpnrluurnlulqhpWH s2 tnn+ 105000 315000 3

5 4 0 3321 1 100 Sysmex XP-300 Uhfi$lt o"t hurur 41000 82000 2

6 'Ihqnnurtp h pd2\rulurtr tr2urhru\nlldJuh ruqFrutrPhtF, urJq

6 .1
Utnldurphurpurnblur1,rT]it#t*mlurpuliur4prlnrl 5618570

6 r 1 33627450 unlln4lrqlrh (rurlln+flqbtrb phq]t1uut) 5ilq q2 thrluhuu 10,85 117180 10800

6 r .2 33621420 rurnnprlu:uuuurlrt (unnnprluruuruulrh \uplrmrl) l0rtq s2 11\uhuu 30 234000 7800

6 1 3 33621720 plrunqpnln{r $nuiurpun 5rlq SZ thrluhuu 26,83 24r470 9000

6 r 4 33631210phrnurlhpurqnh lilq/q, 15q sz PULP 1009,8 3029,4 3

6 1 5 33621620 rqlrpnhnlur\urnh 25dq q2 fiuhuu 40,33 161320 4000

6 r 6 336313104|r[n$thru\ trurnp]rmtl 50 ilq q2 4hrluhun 18,19 18190 1000

6 t 7 33631310 rfftnShtru\fsrlq/3il1 q2 urtiqnt[il 83,3 833 10

6 1 8 33621690 \urp{h4lt1 6.25 ilq q2 qhluhun 70,63 692174 9800


